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A Bt s | mE | G | emm) — E&qi?ém R ww | G
31700 {&F ¥~y 30 3, 240 1, 080 1, 080 1, 080 & 3r—
31900 (i 1 59 54 54 54| &M kg
34330 1B AT 16 1,326 22 17 12| BN 784
34400 | b= b 31 3, 683 119 119 119 &5 31kg
34460 | X = b FE e 8 1,944 324 324 a24| B Bkg
34200 |BIM 54 6, 966 162 108 108| BP9 54kg
34500 (B —w i 9 2, 408 270 270 216 B 9kg
36600 |feEh & 130 21, 222 173 162 1627 130ke
37200 |[L & 9 M 2 513 270 270 270| & 2kg
34930 | L v 83 17, B63 97 86 321 B 2094
34800 [B< B 18 12, 841 76 76 85| BH 181F w b
Y4010 |/ADET 0 Ee 87 20, 930 221 378 292| &R 4178
49470 (S ra r ZA— 8 8, 640 108 108 108| A 8048
71011 |[R 7L —% 28, 545 44 33 HEL 9307%
71040 |EAE 2,112 66 55 55| B 36F
21286 |V a—an 2, 760 55 44 44| N GO
30100 |7EvwZ A L 10 1,836 1,836 1,836 1,836 RS 14 —2
30300 | AB 2L 10 3, 780 3, 780 3, 780 3, 780 | Bl L —2R
30300 A& M 50 14, 040 2, 808 2, 808 2, 808| E I8 5Ar— A
30400 121D 11 2,333 86 86 86| LB 2T
31100 A% L 307 4, 752 2, 376 2,376 2, 376| £ 5 g — R
31100 B3 M 75 8,640 1,728 1,728 1, 28| &% 5ir—A
33810 |FHEHR L 3 972 65 65 65 |8 [ 1548
31700 |F v 130 11, 232 364 864 864 |fEA 134 — R
31700 |3y~ 120 19, 440 1,620 1,620 1, B20| B IR 124 — A
31800 {12 A M 4 1,944 97 97 97| Bk 204%
31950 |HR X L 6 2,808 1, 404 1, 404 1, 404 IR B 24— A
31950 | HAE S 15 3,240 648 648 648 BB 54 —23A
32800 |5 5 2, 268 54 43 13| B I6F 50
36800 [HoE 1D 24 5,184 216 216 216 (BE R 24ke
34300 A 2L 10 5,400 2,700 2, 700 2, T00| BT 2 — A
34330 | 3L 30 6, 480 1, 080 1, 080 1, 080 ST 64— R
34400 |~ b 28 6, 858 1, 404 864 378| IR B T — A
34100 |#IA 2L 0 g, 504 972 756 756 | IR B 124 — A
34100 |#H)K L 30 4,536 758| 756 156 | EIF g4 — A
34100 |8 B 45 972 108 108 108|E IR B o4
34200 &R 20 1,971 108 108 32|BERS 20kg
34500 |&—< 6 3, 240 54 54 54| K5y 6O
34500 | —w1r L 5 2, 808 2, 808 2, 808 2, 808| 4y Lhr—2
36210 |A—2 A > () 2L 10 5,400]  5,400| 5,400  5,400|F 14— R
36600 |- F i ¥ L 20 5, 400 5, 400 5, 400 5, 400 |8 14— A
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A SR fit | 25
a—F e TR | PR (ke) S# ) T i SE E M (BEAE)
33400 |L & % T 43 3, 542 54 32 32| B8 108{H
33410 |[Yr=—1L-F R L 486 32 32 2| &8 1548
33420 |V —» U —7 L # R L 648 43 43 43|1EM 16548
33600 |, Y 1,166 389 389 389 |AEA 345
38100 |&E LT A M 4,104 205 205 205 = IR 20,8y 2
34980 |~BE 9 2,916 97 97 97 IR E 304
Y3066 |A A ha—1r L i0 2,938 86 86 86| eI & 3474
31310 A3 4 1, 080 54 54 54 |fEIR B 204
31600 |ANERSE 12 3, 316 6] 54 54| IR B 604%
37560 |BiE 1 3, 240 324 324 324| K45 10%w &
38400 |z EE 6 2, 484 2,484 2, 484 9, 484 | B 14— R
8521 (SRR L LE 5,184 2,592 2,592 2, BO2| &M 24—
38521 | FARLHUE X 8 2, 268 76 76 76| @M 304%
Y4008 |/~ R A 28 . 24,082 281 270 216|{£% 96,%w 7
Y4017 |H 5l 20 7, 560 3, 780 3,780 3, 780|F 24— A
47571 BBV — A 29 6, 998 324 140 40| ER & 3608
Y5006 (A (B8 80 26, 784 3, 348 3, 348 3,348 | IR & 84— 2
Y5006 [ B500 (B4h) 14 4, 471 224 224 224 LV B 2073y 7
' =i 1,470 373, 3171 [
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